SUuMPO v Third party verified

' E p D Environmental Product Declaration
O

JAPAN In conformance with

VERIFIED 1ISO14025 1SO14040 ’ 1ISO14044
SUMPORRIEINIL FOYJ L (SUMPO EPD)

FUKUVI J7E LRI E (AT

Fukuvi Chemical Industry Company,Limited

J1)N\ih—=F (25~35mm)

Phenovaboard

BERES RiE&1EH ~FAE MREEEEhEARD EPDYM S
SuMPO-EPD-2605-139-1 2026/5/25 2026/6/19 2031/5/24 JIv-TEGREPD
KEFHINEIBASMRARE
BINOERIRE EPD(IREEHAREI CHoTH. EFHE B AN PIEERZZEABYET,
EPDORFRE LU B EZRER T B(CIEU T ERESEL TS,
1SO21930:2017

https://ecoleaf-label.jp/epd/search



SuMPO

I APAN

VERIFIED

Environmental Product Declaration for Phenovaboard

E#REFS) SUMPO-EPD-2605-139-1 . E p D

@ E KB
>T0J5L1ESR
TOJ3 L& TR SUMPORRIESNIL OIS A
TOUSLARL-5-  —HEFEAY AT IR S RS
FrTE#h EREBTAREXAMET-14-8 KANDA SQUARE GATE 4F
JIJYA https://ecoleaf-label.jp

> GPI+PCRIFER

GPI SuMPO EPD Japan General Program Instructions v.2.1.1
PCRE& TR LR
PCRERES SuMPO-PCR-01001-1-0-0
PCREZE H 2025/9/30
LEI-/RNEER (FTE) /3N (RIZLESKF)
PCRE RN HABR 2030/9/29
PCREITHE —MRALEIEAY AT FIIR E HE RS
> IREETEHR
1ISO14025% 1M1S021930:2017 [CHE o158 = H &L
- " O A8 AR
BRAEDIE g RHERRSS -, RAEEEIEE EPDYAT [s385
E=FIRAE = HRiE [C&BE=ERIE

REEEMEE (FTE)  FERRE BEFREFEBEAERIVVIIIVIATLEYS-)

> ZEYLIRAE
B 1SO14040:2006 B 1SO14044:2006 B 1SO14067:2018
BEUIRIE B 1SO14025:2006 L1 1SO21930:2007 W 1S021930:2017
1 EN15804+A2 [J EN50693:2019 [J ISO/IEC63366:2025

EPDICEEHOIEHR X VEPDICRR B OB RICE I ZRETRICOVTOEEIIEPDEGEEENFELT, EPDOARICET IR R, BRFEOV
T3, EPDERIGEEEZTERLEDELEN,

EPDOLLE(E, BB RDEEEE T (CER LU LTEESNBINERSBVD, BERERICEIZEMOI1 IV 2heE R, BRERICE
WCREORABERELLEYTUAEZBAL VR HENHYET, EPDOLLEDOBRICE BRINELAFEAREENMEATEPCRESRL TS,
EPDOHERATREME (R, HREE M EEAL WS EDICRESNEY,

BRI ETMER IS TN LEIETT , BEORSILIVRBEADZEE— TR/ IIONIEOTEHYE A, T, EELLRERRE
NDEGHBEEOARSSP LN RMEZEBLTNANE) ( UAZFHE REPABICENEIOHZEEREINE) 2EETRIEOTEHYEE

Ao
MMEFEHWEZEEDSGE. 717917V BB R KR U1 TV TIA IR NI D HEEER. REVREERH. £ NJ0-[CHTRREIE

]IS %E@%unk’)b\‘cwl HKTEHYEEA,

@EPDENISEEEEIR
EEEL-TES IR TERRART BEMEELRR EMBERD
Ezi RREBRIIXKFH1TH23-3
MWEbhiEE 0800-919-2911 (BE#MBHRTYF-)
LCAEEERE (FTE) J/PbRIEMADT BEMBERIE $HARDIR
BEARR | BEEMORE - RFE. EERARNEM - AEEMTM, EEEERARYATA
EEEPE BE, BIENEEEMORE IR, BRI TR REE - IR5E. RETBHIEREDEEEEFE
RS RN


https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/

E#REFS) SUMPO-EPD-2605-139-1 E p D
Environmental Product Declaration for Phenovaboard .‘
VERIFIED

@& MBI
B RATR 71/ )VR=F (25~35mm)
S ZORR JJ25N+JJ30N-JJ35N
HmEERE  EBEEYORTE
{mBEE  0.85kg B {RE  0.85kg/mi/(m -K/W)

Repfttc HROME BEYOE, XH. KBLEICHETIY MM
JIS A 9521 BERMTIM IT/ -V IA-LETEM 118 2 5 DI (JISA 9511 J1/-)LT#—

e
BATERE ) omig 1122 D)
FH 224
ey ERAE KB SHEEEOEH EEME
o KEEEOMAEREFELL. MAERREBEEIETEOTEAN, T EHeF,”
FEERTE LEARKL

FRIRMME R E E QMR FHER" <20224F >
St h (EEHs) J7CELkARE (BLERE L)
BHECEFEMICERELLIL/ -V RIASE LRI/ VIOV ARER L, 1taE

=
AL DREZCHDRNFETTITAF v Tl E
MEITTHA https://www.fukuvi.co.jp/product/3/01/1078

O RUMEICE I BRER

BRBRER A (%) BE
J1/)-)Visthe 60.0 0.510 kg
AN 24.0 0.210 kg
[Ep) 16.0 0.140 kg
AEMERESR A (%) BE
PRI 94.0 0.002 kg
HE 6.00 0.000 kg
OLEYHRRFESHE
IHH EEE (kg-C) EHE (kg-CO: eq)
HMmHYOEYHRRRRERTE 0.0276 0.101

RHUTICOIZAEREMOEYHRRRRERE - -


https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078
https://www.fukuvi.co.jp/product/3/01/1078

F#&ES) SUMPO-EPD-2605-139-1

Environmental Product Declaration for Phenovaboard

SuMPO

EPD

JAPAN

VERIFIED

OLCA BETEHR
>EPDY 1 T1E3R
@IS O BH—5G B JI-TER O ZE=REH
EPDYAS  HYARIAT B EEYMh O #\HY1Mh
BRI % O 45EE B IEFE 0 RKME O _ERRME
Hh IR A J0-)\0
BHEEG/EHT
% &TEPDICHITS ZAROEMEEEICLLZIMEFHEEAVTEELTNS,
REFMEDREH
BERG/EETIMERT o o 30N G EN RELTISH, EREOHERERETHY, BEERE.
EPDI-BS, SEERO 00 icing 37 sREBLE
L FiBCREd 25%RA °
- JJ25N+JJ30N - JJ35NIFZNZNEHHA25mm, 30mm. 35mme& £7155, ZNITHEL, BIET
B BH1.3n-K/W. 1.5 -K/W. 1.8n -K/WEBB,
> LCABEIER
EEEM 1M BLVFEE23°CICHBIFRRIESE 1 m - K/WHT=Y
HEIO- (WEEMEREILD
[CHEHRR G
JATLIESR B Cradle-to Gate [0 Cradle-to-Gate with options | [J Cradle-to-Grave
LCAY T RIIT MiLCA ver.1.1.3.1
LCIT—9NR-A AIST-IDEAvV3.4
HFELETIV SURZH) : IPCCHEOR MRS Z(PCC,20214E) . ZDMDFIEMESE, : LIME2

Z0tONYIISIIRT-5  —

“RF-5RE

GPICHRED—RT I RmEEHLIT-9EAVTEE LT,

—RT-FNENSE  J7EELKEXEE (ELERL)

—RT-FUINEHIE  2024F481H~2025F3A31H

EYBExRFORYELN O 0/0770-F m -1/+1770-F
FEREE B EvHBOFHENEENIVIA O Z0fts

BHEWYIC B/E -

Bd3iE®R BABR -

BT -
> B EN RERPE
S . {5 PR
BB & R B e T ER PR - S
A1l A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1
= I =] I _
R 5 it * o
oA ® oA % & o B oE ox bR
) O @ & 1) T B ® & I 1B | [
% % % < .
2 | % o .
= = ® - - - - - - - ===
B EERR - EENRHN

PR B B
c2 c3
3

gz
/|
O
) i)
e

HEosw®mQ

Bt~ 3o Foat i O 2 S



E#REFS) SUMPO-EPD-2605-139-1 SuMPO

Environmental Product Declaration for Phenovaboard '. E I D

JAPAN

VERIFIED

>7r0y-v3y

AEFE TR, GPICERHDOFIETTOCAOM AL BLUTO-r—YavERT L, BETOt ALV UIR TG TaEs
N3thOEHE SN HERRELTHHINS, TOCAOMALICLZ 70T -3V EENRE THEH, IRIF-2T -5
EEI1VEERR IS TCEEINIERBOEERICLIMIEE TR O &7, £, WS BIRETCRETIMEAM AT TY
TO—EBEVBA IR ELTRDNS ), BRI ATLATIIMBETEET ELE,

>NybAD

PCRTRESINNY MATHRUMNMI, DY bATUEEETOVRBE,

>YATLER

PCRICEDZRTEEITol, BNV ATLAERL100ETHB, 2. PCRTERHINLVATLAERATOCRAIIOVWTEE
ExF RN,

>IFUA
TI1-) £t BA

A2 WX FERISPCROYFUAZERLS,

A3 WX FERISPCROYFYUAZER LT,

>BHETIVY

WHRETZETDIMIHAIINERBEICEWNT, 2021 EEICB 3B AFEHORKEEHDT-IE2ANVTEEE{TO,



F#&ES) SUMPO-EPD-2605-139-1

Environmental Product Declaration for Phenovaboard

>3179147)V70-K
AL RETRIEE

J1./-)LAEiRE

LAl

Al

A hnAEl

[

pind) 16

R

“H\

3=

A2 [FH1 #HEE A3 EE
> EX
> Bk I
Hz
> Egik E}% =
. Al ~
= 2z B
> EE 4 if} .
i
=)
> X
> Bhx >
> BnX >
— FEZEM)

VERIFIED

A 4

A7)l 4 M

h 4

BEANgLIE




SuMPO

JAPAN

VERIFIED

Z§3%%&S) SUMPO-EPD-2605-139-1 . E p D

Environmental Product Declaration for Phenovaboard

OETEHR
>54TY 1V B L ERE R
JULEE
B B 5 T ER Bt him (EAREE P N R
A1l A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D
SUEZEH) - &5 kg-CO.eq| 2.48E+00 @ 6.67E-02 | 8.48E-01  3.40E+00 - - - - - - - - - - - - - -
SURZE) - L BEHRE kg-CO.eq| 2.66E+00 @ 6.66E-02 | 8.47E-01  3.57E+00 - - - - - - - - - - - - - -
SURZE) - =Yk kg-CO2eq| -1.81E-01 ' 1.28E-05 | 2.13E-05 -1.81E-01 - - - - - - - - - - - - - -
SURZEH) - LA A RUTEE kg-COzeq| 6.51E-03 @ 6.89E-05 | 5.66E-04 @ 7.14E-03 - - - - - - - - - - - - - -
AV B E kg-CFC-11eq 2.13E-07 | 2.96E-12 = 5.82E-07 = 7.94E-07 - - - - - - - - - - - - - -
EREl kg-PO.*-eq 2.34E-03 | 3.16E-10 @ 5.28E-08 | 2.34E-03 - - - - - - - - - - - - - -
[ gexld kg-SO2eq ' 2.90E-03 | 9.49E-05  5.68E-04 @ 3.56E-03 - - - - - - - - - - - - - -
FACFEAFII Y NERL kg-C:Hseq 1.06E-04 | 6.35E-07 = 7.34E-06 = 1.14E-04 - - - - - - - - - - - - - -
SEMA TS IVDIA THA N B ETTHE
EEME RS - 1Y) kg-Sbeq | 9.13E-06 @ 2.76E-10 | 2.14E-06 | 1.13E-05 - - - - - - - - - - - - - -
SURZE) - 2otk kg-CO.eq| 0.00E+00 ' 0.00E+00 | 0.00E+00 0.00E+00 - - - - - - - - - - - - - -
>FLTYMIWAIRY M) IREEEBR —— R EROERICET 3151
JUL kb
G B 5 T ER Bk e (R o N R
A1l A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C2 C3 C4 D
BAEMRE—RER - IRF- (RPRp) MJ 1.65E+00  3.84E-04 4.09E+00 5.74E+00 - - - - - - - - - - - - -
BEAEE—RER - IRXNF-88ME (RPRy) MJ 5.64E-01 | 6.28E-07 | 8.12E-05 | 5.64E-01 - - - - - - - - - - - - -
FEBELEEE—RER - IX®)IF¥— (NRPR) MJ 2.56E+01 | 7.31E-01  1.74E+01 | 4.37E+01 - - - - - - - - - - - - -
FBEAR—RER - IXNF-5FME (NRPRy,) MJ 3.06E+01 | 2.45E-06 5.18E-03 | 3.06E+01 - - - - - - - - - - - - -
>354TH1INAYRY NS ESES R — = R & EOERICEI T 3181E
JUREE
LR R 16 T ER Bt e [RREE P N 5540
A1l A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C2 C3 C4 D
ZRME kg 1.37E-01 @ 2.72E-07 @ 5.31E-04 @ 1.37E-01 - - - - - - - - - - - - -
BAERTREZRIRE MJ 8.01E-02 ' 1.78E-07 | 9.12E-05 ' 8.02E-02 - - - - - - - - - - - - - -
FEB AR BE R IAR) MJ 1.00E-01 | 1.10E-06 @ 4.63E-04 1.01E-01 - - - - - - - - - - - - - -
BN T RILF- MJ 8.28E-03 | 1.85E-06 | 2.14E-02 @ 2.96E-02 - - - - - - - - - - - - - -
>F4THLIWAIRY NS HEIES R —JEE MR- LB, RkONES
JUREE
BB BB 6 T R e Lt — AR ER T 15541
A1l A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 Cc4 D
FEEYME R B-1LR MJ 6.67E+01 | 9.04E-01 1.26E+01 | 8.02E+01 - - - - - - - - - - - - - -
WIKDEE m 1.14E-01 | 1.89E-06 @ 3.67E-04 1.14E-01 - - - - - - - - - - - - - -



SuMPO

B$FES) SUMPO-EPD-2605-139-1 E p D
Environmental Product Declaration for Phenovaboard .

JAPAN

VERIFIED

> REVMBEERR
g . i FRERR e
B B R s T B v o R ARERIE BRI
A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 Cc2 Cc3 Cc4 D
BEREY kg 0.00E+00 A 0.00E+00 | 0.00E+00 ' 0.00E+00 - - - - - - - - - - - - - -
BERZEY kg 2.35E-02 | 5.98E-05 @ 2.51E-03 | 2.60E-02 - - - - - - - - - - - - - -
=NV RREY) m 9.80E-12 | 2.43E-15 @ 2.50E-11 | 3.48E-11 - - - - - - - - - - - - - -
FESIMELNIV RS HEBEEY) m 4.10E-09 ' 1.02E-12 | 1.05E-08 & 1.46E-08 - - - - - - - - - - - - - -
> HAI0- LAY BREIRHR
et A i FRERR o
1 B R o T BB S - HRERERRE BRI
A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 Cc2 c3 c4 D
B AR e ER G kg 0.00E+00 | 0.00E+00 ' 0.00E+00  0.00E+00 - - - - - - - - - - - - - -
VY10 )VE kg 0.00E+00 | 0.00E+00 = 1.96E-03 | 1.96E-03 - - - - - - - - - - - - - -
IRIF-EYEA R kg 0.00E+00 | 0.00E+00 ' 0.00E+00 0.00E+00 - - - - - - - - - - - - - -
BRSO H TR E -

: N MJ | 0.00E+00  0.00E+00 0.00E+00  0.00E+00 - - - - - - - - - - - B - -
(TARNE-EIEE = 60%) * ’ i i

BEZEY) DA FEEY BN, B kg 0.00E+00 | 0.00E+00 = 3.40E-02 = 3.40E-02 - - - —~ - - - - - - - - - -
(IRIF-EEH=R

<60%) AR IR - MJ 0.00E+00 ' 0.00E+00 0.00E+00 0.00E+00 - - - - - - - - - - - - - -
REVIOZI T _ BRI B kg 0.00E+00 | 0.00E+00 | 0.00E+00 | 0.00E+00 - - - —~ - - - - - - - - - -
(FREYDIEILTITEY

HETBEBEIAANGDT

2JLE—EIR) EURIRIVF - MJ 0.00E+00 A 0.00E+00 | 0.00E+00 ' 0.00E+00 - - - - - - - - - - - - - -



Z#HHES) SUMPO-EPD-2605-139-1 SuUMPO

Environmental Product Declaration for Phenovaboard .. E I B AQ

VERIFIED

>LCAREERRICEAT 35200

BERBEICHI2EHE YT UAPCR Annex.C XY FUA GRE) LYUBIALTEY., BB (A3) OIRIY-ERE
. TH2A0RERELZAMROEEETR Y (WENTDT-Y3Y) LTEHLTVS,

e, BEVMROFBBR—RT-FEWRELLN ZNICRLBLAT-F CE—MREBZRT-5ZFERLTVS,
INGOTOLAICEWNTIE, RELITRENHBATREMN DY, ERIIBIEEL BB,

BLERRE (A3) [CEVWTRAETZMMO—BENTUTINITAIINET>TEY AEE CRZOMBRETEEELL WS,

Q@ ENNIRIZIER
> LCAICEIEL RV EINERE SR

>HEYEICRET31ER
BEEYEL CAS No. BRAINZEEZEIFRF 0SB
AN - _

EMBLUERE RN SOERYE O H

ANV

ORENER

@& ik

+1SO14025:2006 Environmental labels and declarations — Type Il environmental declarations — Principles and
procedures

+1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework
+1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines
+1S021930:2017 Sustainability in buildings and civil engineering works — Core rules for environmental product
declarations of construction products and services

+1SO14067:2018 Greenhouse gases — Carbon footprint of products — Requirements and guidelines for
quantification

CHRIRNF-F. IR -RAIRERAE - REFHARE—BFR (2025F3 A WEThR)

@K EE



